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Note : This paper contains ONE HUNDRED (100) multiple-choice questions. Each

-8 :

question carrying TWO (2) marks. Attempt All the questions.

ucls s A () e 8.

WL N Al (wo) otg[?uxctﬂq el B, dd ukﬁ-u Aol @uiat-l .

Who of the following is not an

évdiﬁtio_na'ry theorist 7 =~
() Lewis H. Morgan

(B) Emile Durkheim

(C) Auguste Comte

(D) R. K. Merton

Which of the following are ‘sacred’
items according to Durkheim ?
(1) A coconut sold in a shop |
(2) A rock with a God’s sculpture
(3) A coconut oﬂ‘ered at a temple
(4) An artistic drawmg

Choose the right answer :

(A) (1) and (2)

(B) (2) and (3)

(©) (1) and (3)

(D) (1) and (4)

Sociology-IT

2.

Bt U4 Siew s GesiReud] RugiaRe
-'[Eﬂ .-: - . :
(A) alay A, Mol

(B) $wiSd guldy

(C) »dRR i3

D) 2.3, uén |
g.,"l[iS*H.l Hd ELW HH gL} 3'5
YR euoidl oA @ 7

(1) s g Gu Aag AR
@) S2a-l- 3l uside yaur -
(3) s qRRui ys1dg -udz
4) A5 sadts RAssm

Wl Gur Wil

(A) (1) 24 (2)

(B) (2) ¥ (8)

(€C) (1) 31 (3)

D) (1) A 4) )
[P.T.0.]



The idea of ‘Risk Society’ was
explored by :

(A) U. Beck

(B) J. Habermas

(©) A. Schultz

(D) H. Blumer |

. Which of the following fadors is
not a hindrance in ‘nati'ona_l
int_:égration ?

(A) Casteism

(B) Communalism

(C) Regionalism

(D) Urbanization

Which of tlie_ following theorists
.views modernity as an *unfinished
project” ?

(A) Jurgen Habermas

. (B) Jeffery Alexander

(C) James Coleman

(D) Jean Baudrillard
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‘(s udl’ -l QR siw © ?

- (A) 4. A5

(B) ¥. S0l

(C) ¥, g2

T (D) N g

Wy yauqi P Wl sy As

ouas WRan dig <l ?

| A) slaais

(B) simate
(C) uNguAls

@) s

Gt 18t [ueiafacind sia
2y sdid s “%gﬂ usey”’
(Unfinished Project) 58 © ?

(A) Y% Semy

(B) %% RAsIs?

(C) B sla3n

D) @ oSS



A tribal chief enjoys which form of
authority ?

(A) Rational-legal
(B) Charismatic
- (C) Traditional

(D) Magical ‘

Which of the following captures the
demographic transition of
population ? |
‘(@) High birth rate and high death
rate |

() Low death rate and low birth

rate

() Declining death rate and high

birth rate
(d) Declining birth rate and
declining déath rafe :
'fhe correct order is :
| A ‘@ -¢-d-D.
BV -—a~-d-%
C)d-%C-a~-%
oY@
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. m) ‘c’ -

a5 sularl pd ¥ an wd 3 a

-

¥

(A) diffs—siualiy

(B) AnchilLs

(C) WIwdd
(D) fagﬁ

Fo-i A4 5y axciRuas sua g
ad B ?

(@ Glat %-e: 21 GlAl yyeR

@) dAl e A QA ¥R

© Uedl el A Gl weued

@ "edl ¥uer A 2l yoyer

Al suL D ?

(A) ca! _'__'tcs - :d’ - ‘b,

(B) ‘b’ _ Sa! — ‘w - (c’

(C) ‘d? _.‘cl - ‘a’ — ‘bl.
‘b’ — ‘d’ — ‘a’

[P.T.0.]



10.

Anthony Giddens, in  his

structuration ‘theory, makes a

distinction between two forms of

.consciousness. They are :

(A) False consciousness and
rational consciousness _

(B) Discursive ponscioushess and
practical consciousness |

(C) Conscious and unconscious
mind

(D) Individual self and social -'self.'
Who viewed éﬁste as a system of 9.
graded inequality ?

(A) M. N. Srinivas

(B). S. C. Dube

' (C) David Hardiman

(D) B. R. Ambedkar -

Louis Dumont is known for which 10.

study ? -

(A) Marriage as Sanskara
(B) Family organization
(C) Caste-system

(D) Kinship types

Sociology-11 _ 6

il BrseA vt 2-UdA 0 Rgidil

AMLAdLAL 6 @3y gal WSt
et sl ©

(A) GUHs UG A Klfs AsridL
(B) ¢[Ad (Discursive) - qdiy

(Practical) Y®sidl

(C) Aot~ ol vAci H-:Ryla

M) alZdatd 2 A4 WS 24q

Sl R oo sl dessian?
wARIAALA{ a8 7

(A) 234, A

B) Al g

©) $hs sishid

D) oll.2u. AiGsH

4o SYML a1 suL AouRAN 5123

ogeflel & ?
(A) @3 3§ ALY
(B) &30 A3

(C) MR~

(D) AR UHR



11.

12.

13.

From early years of independence,
till early nineties, India’s path of
development may be characterized
as : ‘
(A) Gandhian

(B) Socialist

(C) Capitalist

(D) Mixed

How many days of wage
employment does MGNREGA aim
to ensure in a year for unskilled
labourer ?

(A) 80

(B) 100

(©) 150

(D) 200

Which of the following are push
factors of migration ? '

(a) Poverty

(b) War

(¢) Higher wages

(d) Environment pollution

(A) ‘@ and ¥ *

(B) ‘a’, b’ and ¢’

(C) @, b’ and ‘&’

M) b, ¢ and ‘@

Sociology-11

11.
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13.

Aol uFvuc-u avlell «4f Qg
el WIel Yell, odn (s
ol s el ?

(A) isllaud

(B) L€l

(C) yslagl

O) B

AnoUAl (MGNREGA) a&y
W Bigua sie i Adet
AU W2 e Ray siu sraurdl

wWidRl 2 ¢ 7
(A) 80

(B) 100

(C) 150

(D) 200

AlAAHid] maid w2 sy Yy FseR

8 7
(@ ARl
®) 46
) G Qdn
(d) wula| wgyw
A) ‘@ ¥ b
(B) ‘@', b’ ¥ ¢
(€) @, B ¥ ‘T
D) ¥, ¢ ¥ @
[P.T.O.]



14. Which two terms are often used
interchangeably ?
(A) Post-modernism and modernism
(B) Post-modernism and critical
theory
© Mafxism and post-modernism
(D) Post-modernism and post-
| structuralism
15. Which Mr is responsible for the
gender discrimination in the
world ?
(A) Ethnicity
(B) Patriarchy
(C) Race
(D) Education
- 16. Which of the fo]]owing is not seen
in slums ?
(A) Inadequate water supply
(B) High density of population
(C) Poverty

(D) White collar crimes

Sociology-11

14,

15.

16.

sug O o6y Sisolloaru wafuu 3w

AR QU & ?

(A) M
2uglasdiale

wysdiae  wiqd

(B) iy augl'-ﬁcuqta 2 wlancis
Rugia (Aldsa Luz)

(©) WHHAE A e HUYFRSAUNE

D) g gFsdiaue 24 v
AAULSUE

R2qui @Bus viReundL W2 4 Wk
FAUOEIR & 7
(A) dfludl
(B) Mg

(C) ala

(D) (aaw

der auaieini AA-eiidl sy A«
yag ol 7 |

(A) vl well yrasl

(B) il G= Rad

(C) aRlefl -

(D) 2ad Y-t



17. Who used the terms ‘Simple’ and  17.

18.

19.

‘Complex’ streams to study Indian
civilization ?

-(A) N._K. Bose

(B) G. 8. Ghurye

(C) Surajit Sinha

(D) Louis Dumont

The white revolution is associated
with bringing changes in production
of which commodity in India ?

~ (A) Wheat

(B) Wool

(C) Cotton

D) Milk

Which of the following energy
sources used in ht_)uses) are
envirbnment friendly ?

(A) Solar

(B) Coal

(C) Petrol driv?n vehicle

(D) Gas

Sociology-II

ol AGUtAL MAust  oANL

WA Simple’ v AR4 ‘Complex’

Izl Guiol Sid sul ?
(A) A3, ol

(B) @.91. yd

(€) Yrwd Rier
D) 95y syl

. oudMl Bewte-ll azguii 56 axgel

Gaweil 2udd Wkadd wd 2Ad sila

Asmda & 7

@A) 46

(B) Q-
©) swuy
D) g&

- DAuifl sut 9B wildl ¥ i

AUAY B 21 vulaa-u Bzl ¢y
a1
(A) ydulta
(B) slaril
(€ Vigdl nadt aws-il
D) A |
[P.T.0.}




20.

2L

22.

After the 73rd amendment, which
unit of the Panchayati Raj
institution is not constituted for a

particular period.

(A) Panchayat Samiti

(B) Sarpanch

(C) Gram Sabha

(D) District Panchayat President_
The second green revolution is
based on introduction of which
technology ?

(A) Pesticides

(B) Fertilizers

(C) Irrigation

(D) Genetically modified seeds
The | death of women during
pregnancy or childbirth is captured
by which measure ?

(A) Infant mortality rate

(B} Crude death rate

{C) Maternal mortality rate

(D) Fertility rate

Sociology-11
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20.

21.

22.

73 Ui .c-leu:.'a{lq el wdl dAwudl
¥ AW suL AsHA ALssA
AU M2 UM el Al ?
(A) dawud Al

(B) ¥

(C) wHuGL

D) Preal Y- uym

oflw a(uwioll sifa-il >ua12 sul

dafaandl ulRay sl 8 ?

(&) Fd-uusi

(B) widl

(O Riws

(D) dgdelly Ad 3wdlRd B
Aaefaml wuar snayy qud
Wil ey 59 Ad wuami 2wl
9 7

(A) Ay Hyer

(B) gair[l HYER

(C) Mg YePeR
(D) Wt €3



23.

24.

25.

Who studied agricultural system:

and land relation in South India
during the British rule ?

(A) Henry Maine

{(B) Charles Metcalfe

(C) Oscar Lewis
(D) J. H. Hutton

According to demographers, what

fertility rate in a country ensures
a étable population ? |

(A) 35 |

B) 3.1

(C) 25

D 21

Which one of the followihg forms of
family affect positively in urban
industﬁa] society ?

(A) Joint family

(B) Nuclear family

(C) Avunculocal

: m) Matrilocal

Sociology-II
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23.

24.

25.

ool Bidla e s sut Qg
sl eua-it aella wwentl g

aaal A ML ol Aou S8
sl ? B

(A) 83 A

®) ual ess
©) sz g
(D) ¥. %A, 2

'Cl:!t{la.lt%vﬂ%fl W g e Ruz axdl

W2 syl uHA e (RBad s34l
A ? | |
(A) 3.5

(B 3.1

(C) 25
D) 2.1

Al gdud sy @3av ALY

WL esiies A v 539 ?

. (A) élgsd 30

(B) [ots giu

(C) HMI-UAY
@) Hdarlly géo
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- 26. Who has studied sociologically the

o1,

- Jajmani system in Indian village ?

(A) Oscar Lewis
(B) A. C. Mayer
(C) Robert Redfield
(D) Owen Lynch =

The book ‘Sociology : A Multiple

by :

" (A) George Ritzer
* (B) .Anthony Giddens

(C) Herbert Blumer
(D) Thomas Kuhn

Complete the following phrase :

- ‘Neo-Functionalism was originally

intended as’ :

(A) A grand theory of integration

(B) A response to the failures of
intergovernmentalism

(C) A theory of integration for
Latin America

(D) A practical theory of integration

Sociology-11

. Paradigm Science’ was written

12

26.

27.

gzl SuMSH Wiy Jla
oopi«fl MUl o S8 syl ?

(A) sz Alay

(B) 3.l AU

(C) Aue IslEes

(D) »ldaq dl-=y

QUL ¢ A Hedud ULSISH

AR Yreiswll Avis ¢

(A) FUF 2R

(B) -l Bisx

(C) eelé ey

(D) A 5+
Q3 20y sy yol s
‘qagsuleisas’ il jasid 8g sdl

,3:

(A) Yauusi-l s o Rgiad

(B) id AW s+l Frsaal
i3l ulaeua

(C) ARA ANRSL 42 YAURAL-L
Rigid _

D) AU+l s aszadl Rigid



29. Indicate the forms of procedure

@A)

31.

which are recognized and accepted
by society and govern the relations
between individual and groups. |
(A) Process

A Submission

(B) Structure
(C) Ritual
(D) Primary obviousness

Sociology-II

(B) Social Action
(C) Institutions
(D) Interaction
According to post-modernists, which
ideas of modernity are considered as
‘dead’ ?
Reason, rationality and
,  progress
| (B) Rationality, progresa. and
objectivity
I(C_) Leéalify,' progress and
objectivity
(D) Reason, legality and rationality
According to Althusser, ideology

18

31.

Wy gL dlga 2R ey Al s

el 2a3ul ¥ w3 gt dlyd 2w

8 WA Aldd WA WY At AsidiA
dufaa 53 8 Q culdl :
(A wBu
B) wulys Bu
(C) dil

D) »lid3 &qw‘&_
uuuaa_ugﬁ.sdxcllﬂaﬁ ud SugFsdirl
aqi Raual “ya” s 8 7 I
(A) df, ad!m A wadl

(B) cuBsc_u, wdl v qag[ﬁfém
(© stmalud, widl A axgFrsal

O) af, swelkudl 2 s

ACYA? (Althusser) 4t 4d [Auzu2ell

.i;l.f::

@) 1Eud B
(B) uay 8
(©) ubls Busis
D) wals wWea
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32,

33.

Sbéiology—ll :

Which ’or_le of the following

statements is true from conflict

perspéctive ?

(A) Stability requires a consensus
and thé support of a society’s
‘members

(B)
stabilizing society

(C) A comi:non culture serves to
maintain the privileges of
certain groups

D)

" continue to survive because
they contribute to the overall
social stability

Kerala achieved a high sex-ratio

' (1084 females per 1000 males in

2011) because of :

(A) respect for women

(B) higher literary among men
(C) higher literary among women

(D) better maternal health care

Culturals traits all work toward

Practices such as proétitution' :

14

32.

IBEIETE (] 33,&&1-1 AL ﬁl’zime{l :

LAy e

33.

(&) Ruadn adiuR %G AL
Aoyl AssAl 732 W @

(}‘3)' dAId ai%.g[éls dedl ALYl
Razdy m'é.rgul 538

©) Z{I.H.Lf.*-l- dagla wur-u GBad
v QARSRA vivet 20l
5

D) Arutgd Fdl Hgvil Ada uiadl
W D 51 X c‘{'zm{ AHPrs |
Rl diogin 3 8

30 % Gl (2011 -l axdl

o]l Yol 1084 w{latl w1000

yub) wA 1A sing sl ?

(A wilxl uR asud

(B) ﬁ.gh[‘mi Gl el
(Cy wll»iinl Gl Aisit

D) A% g predl ieny



34.

35.

37.

Which is the concept linked to
Geographical Area ?

(A) Institution

(B) Association

(C) Society

(D) Community

Which unit does not have member-
ship ?

(A) Institution

(B) Community

(C) Association

(D) Group
According to Radhakamal
Mukherjee, value means culturally

(A) Norms

(B) Desires and goals

(C) Religion

D) Law

Which matter is important in the
‘third’ wave of feminism ?

(A) Ensure equality with female

(B) Reduce the authority of male
(C) To change sex ratio

(D) To improve the opportunity for

women’s development

Sociology-I1

34.

- 35.

36.

37.
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(B) sn
(C) W
D) Ay -

S4L BsHY AU ue i el ?
@A) ¥ -

(B) Uy

() ¥sn
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AUSHE Y521 HA Heu A2d -
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(A) el

(B) Suoivil wiA sy

(C) ad

@) SIEL

Aldiet Al diAni 5 olod
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- (A) Wbl A Wi YRGB 54

(B)- Y-l 2unl GuR SN ysq
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38. The spread of ‘invention and

39,

40.

discovery from one area to anotiler’
identified by William Ogburn is
referred to as :

(A) Evolution

(B) Diffusion

(C) Revolution

(D) Functionalism

- Which one of the following tribals

was studied by David G.
Mandelbaum ?

(A) Kota

(B) Garo

(C) Khasi

(D) Santhal

Who said that a sociologist who

wants to understand the caste’

system must free himself from the
hold of Varna model ?

(A) J. H. Hutton

(B) McKim Marriot

(C) M. N. Srinivas

(D) S. C. Roy

Sociology-I1

38.

39.

40.
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Al HARAA F sday q =

(A) Ocsila

(B) M

(©) sila

D) nsialcisdal
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A) siat

(B) uRl

(C) Wl

(D) w4
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41.

42.

43

According to which scholar, most

often action is routine and relatively
unreflexive ?

(A) Harold Garfinkel

(B) Erwing Goffman

(C) Alfred Schultz

(D) Max Weber

‘Who coined the term ‘ethnocen-

trism’ ? |
A) W. G Surhne_r

- (B) W. Ogburn

(C) Max Weber

(D) T. Adorno

Assertion ‘A’ : Low child sex ratio
in India is mainly due to female
foeticide. '

Reason ‘B’ : Son preference is quite

strong in India owing to patriarchal
system. ' '

Codes :

(A) Both ‘A’ and ‘R’ are true and
‘R’ is correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true,
but ‘R’ is not the correct

explanation of ‘A’
(C) ‘A’ is true, but ‘R’ is false
(D) ‘A’ is false, but ‘R’ is true

Sodologj-ll
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s [Qetie v Yool Mgt eudl Buy
yRuidl yradl v gadiicts 2d
Brri—viadld ¢iu & 7

(A) dRies wRFwsy

(B) $[da 2N

(C) »1e¥6 yeo

(D) A5 QAoR

“Qbﬁ&r;h{lam” e 51 Bl ?
(A) SOy, AR

(B) soiey. ol

(C) Asu AU

D) él. Asiz-l

Rl ‘A’ elddl [ sun—alq
W Houed, wfl o seun R &,
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(A) ‘A’ 21 R’ oid WAl A R
A Al Wl vl &
(B) ‘A’ ¥ R’ 6l WAl  wA R
B AT Al AL vt -l
(9]
1))

‘A AY B, un R uig
A g B, W R wg @
: . . [PoToOn]



44. Indicate the true statement, post- 44 3 Qe ealdll, Arg—2ugMsdLUE

modernism : _ .
: | (A) Rall vgla-ll s 53 8
(A) advocates methods of science

(B) is a reaction to grand theori- B) Wt Yailesa Wil vlalza
“zation | 2
(C) attempts functional analysis ©) usilos Rsawg e 4 8

.(D) is  eventually a political '
D) Ba2 sy Raz @A ©

- 45. 2l ol adl £S5 Roena-ud d1a
mellal & 7
(A) SHuBs 2-ndlan

discourse
45. Ashish Bose is well known for his
concept of :

(A) Demographic transition _
(B) WyAut AsAEin

(B) Population explosion

| - | (C) URANG Sqaui-e
- (C) Sustainable development

D) oy W
(@) BIMARU states (D) Ay

" 46. According to Max Weber, values 46. A5y A6l Hd Yool AurAANY
have an important role while Al yeued{l 201yl CIEL]] s
attempting which aspect of sy 8 ?

i i ? . - .
sociological research * (A deliat weell wiedll Al

" (A) selecting a research problem.
B) dl Asllsra

(©) Wdl (azqua

(B) collecting data
(C) analysing data
(D) theorising about research (D) dglad Rdq [gilasn

Sociology-11 18



47. Who amongst the following has

studied peasant movements with a
historical perspective in Indian
context ?

(A) S. C. Dube

(B) David Hardiman

(C) D. N. Dhanagare

(D) A. R. Desai

need for indigenization of sociology
in developing societies. |
Reason ‘R’: Thé- major sociological
theories were based on the
'experiences of developed countries
in the west. |

Codes :

(A) Both ‘A’ and ‘R’ are correct, and
R’ is the correct explanation
of ‘A’

Both ‘A’ and ‘R’ are true, but
‘R’

(B)

is not the correct
explanation of ‘A’,
‘A’ is true, but ‘R’ is false

‘A’ is false, but ‘R’ is true

©
D)

Sociology-11

48. Assertion ‘A’ : There is growing

19

47.

C)

ozl deelni G 15 54
Ay wRAaul gus w-clasiidl
veqiy syl ?

(A) Wy, gd

(B) S[as wislAn

(€©) SLA-. w-uad

O A2, 2w

alRt ‘A’ - Rsuella wnrHi
AT RS ag A Grpracdl

#3uld 9.

af R odlel eudL Bumnily

Rugidl WP [AsRid i 2igeia |
safd 6.
sls : |
(A) ‘A’ W R 6 WAL S A R
:91_. ‘A’ Al WAL WAL B

(B) ‘A’ ¥ R 4\ il B u.z‘g R
A A Wl wal vl -l |
w wd B, \ig B g D
D) A’ Wi B, uid R wy 8

[P.T.0.]



49.

50.

‘Which of the following is not

associated with  Derrida’s
contribution ?

(A) Cultural capital

(B) Logocentrism

(C) Deconstruction

(D) Difference

D. P. Mukerjee observes that-in
order to be an Indian sociologist, one
must be an Indian first in the sense
that :

(A) Must be born in India
(B) One must be an uncritical
admirer of Indian society and
culture

(C) One must be a Sanskritist
scholar

(D) One must be aoquain_ted with

Indian tradition and culture

Sociology-11
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49.

50.

R A 53 [@sey e diasi

A AsAdg el 7

(A) seurd ued

(B) f:i‘taitilv{laﬁ

(C) Sls-ugsuri

) Slsy

ALy eale ¥ As oudly
wirnell dudl udal alas %
w1 uud 1Ry ld AdA Q4 Wil
Ad & :

(A) eudHl ¥~ sldl @.t‘Sil'

B) oudla wuy 2wt Ayl

wRog uAAs eldl ASuL

(© Als gl eldl A

(D) ol YTUL 2R Azl

'_ RS2 il ASA



- Bl

52.

b3.

Which among the following is
categorised as a primitive tribe in
Gujarat ?

(A) Dublas

(B) Kathodi

(C) Chaudhari

D) Gamit

The ability to control others inspite
of resistance is called by Max Weber
as :

(A) Power

(B) Authorify

(C) Class

(D) Charisma

Who has claSéiﬁed social action into

‘ ~ ‘logical’ and ‘non-logical’ ?

(A) Max Weber
(B) Malinowsky
(C) W. Ogburn

(D) V. Pareto

Sociology-II
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51.

b2.

Ul lAidl 55 w-mlaA

sitleuafal Aellni ysis & 7

(A) gol

(B) ssl
(C) ARl
(D) suHld

(BA2ia glar odi 24l Fedamul

Amarll qiudid Asndar g 58

d 7

(A) Al
(B) uxt

(€) a3l

(D) AMcsUS

WP B s A Birt~culds

 Aelainl S Roubsd 53 ?

(A) A5y Qo2
(B) ula-idl

(©) suey. ol

o 4. Wa

(P.T.O.]



54.

55.

66.

The observation which occurs most

frequently in a sample is, called :

(A) Median
(B) Mean deviation

- () Standard deviation

(D) Mode

Higher fertility is associated with :

(@) Lower age at marriage

(b) Lower household income

(¢) Higher illiteracy rate

(d) Higher proportion of urban
population

Codes :

(A) (a), (¢)and (@)

(B) &), (c) and (d)

(C) (a), (b) and (c)

D) (a), (b) and (d)

Who is the author of the book

‘Bad]afun Gam’ ?

(A) A. S. Patel |

(B) Manubhai Patel

(C) Taraben Patel

D) f‘mvin Patel

Sociology-11

54.

b5.

56.

As Medqni ¥ Mlaa adaiz wue
WY B A g sy ?

Ay Sy~

(B) Bt S[axiu

(C) WSS SRR

(D) s

Wil Gl €3 ¥+l WA soudell
8 d:

(@ @ auiddl -u-dl GuR

®) ol wefl was

© gl G €2

(d) 83 axdl-il aul wu

Qs |

(A) (@), (¢) ¥ ()

®) ®), © W @

(© (@), B) ¥ ()

(D) (a), (B) ¥~ (d)

“ogdlg UM’ Y Aus s ?

(A) 32U, Yed
(B) Heus ued
(C) dlR6i1 v2d

M) udla w24



b57. Assertion ‘A’ : In the sense of

Dyrkheimian theory, the Prevention
of Domestic Violence Act of India is

an example of social fact.

Reason ‘R’ : Laws are social facts

according to Durkheim as they are

external to an individual and

coercive in nature. -

Key : _

(A) Both ‘A’ and ‘R’ are right and
‘R’ is the correct explanation
of ‘A’

(B) Both ‘A’ and R’ are correct, but
‘R is the
exlplanation of ‘A’ _

{C) ‘A Iis correct, but ‘R’ is not
correct

(D) ‘A’ is wrong but ‘R’ is correct

not correct

.  Which scholar studied social life as

a series of dramatic performances,
similar to those performed on a
stage ? '

(A) Peter Berger

(B) Erving Goffman

(C) Alfred Schutz

(D) Garfinkel

Sociology-I1

57.

58.

st A gl Rigia wud

ol 43¢ [ »ifaa s 3

ALUCHS amq Gelsra 8.

af B : gRMrL da ses) aulys
dn . & alddl s B A A
GUR souR dlg 8.
dl :
(A) ‘A’ 2 R’ ol w3l § w4 R
B A Ay sk B
(B) ‘A’ 1 R ol Al ) uig ‘R’
A A 4wy wNlse efl
(C) ‘A’ Wy B Yig ‘R = wy =l
t)) ‘A’-uﬁg 8 Wid ‘R Wy 8
AMLYs  @ad B Ad2uleys
Rl Aell & Il Jd qu W
d wlNeusd WY B, 2L ASHY S0
Qg g4l ?
(A) e el
B) Sda oulgA
(C) 2ueds y2n
(D) u:slsy
[P.T.0.]



59. According to Robert Merton, function

refers to those consequences which

are: -
(A) ‘not observed but make for the
. adaptation of a system

(B) observed but latently make for

the adjustment of a system
(C) manifest but not recognized for

the adaptation of a system
(D) observed and recognized for the

adaptation of a system '
Which of the following statements
is a hypothesis ?

'(A')' A_cute drought has forced rural

~labour to migrate

59.

(B) 'High urban density caused

pollution _
(C) High speed vehicles are

responsible for accidents

. (D) Education leads to a higher

61.

level of awareness
Descent traced through both
father’s kin and mother’s kin is
known 8S .eevereveren --... form of descent.
(A) Patrilateral
(B) Avuncular
(C) Bilateral
(D) Matrilateral

- Sociology-11

61.

24

el Hd Yot usiul+l wed d

wRaill wy 9 F

(A) B4 FRlam ¢ig «dl wa Ay
da-il siggdnd Wy orud 8

(B) FTlae 53] U5t B Y As daisl
vrgen W2 Hu9 Ad sidd
s 8

(C) M2 it B YR A cislll Hrgsdei
A g g et

D) ¥ %6 st & A NS ol
gyt w2 wlisd el 8

o Al 5y Quir As Gusey-u

¢ 7

@A) dls s aplla wgRiA wa

id+fl 3% ws &

(B) ld d0actid ag wuwA
IAC] B

(©) dla alasl wEdt dusdl 2s3Hd
W FaAlLsly sld 8

(D) Raa G sauefl aoyfa e 3

Rguat 2t qgua A ol dsdl
daddl sulaati 21 di d xl g
sdaiy 8 7

A) Rqdela

(B) ¥darsyd

(C) [gdally

(D) *qgdelly



62.

63.

The term ‘core’ in the theories of

modernization refers to the societies

based on :

(A). free-market economy

(B) mixed economy

(C) agricultural activities

(D) d&eIOpmg societies

Functionalism looks at :

(1) a society with different social
institutions as disparate from

each other

(2) asocial system as an integrated

' system
(3) each part of the society
functioning independent of

each other

4) asocialsysi:emasasystemwith '

interrelated parts
Identify the correct code :
(A) (1) and (2)
(B) (2) and (3}
(©) (1) and (4
D) (2) and (4)

Sociology-11

62. 2ugRlse-u Redu "3:_«:."_' (si2)

Al wia su WA dee] Guz
waRd 8 7

(A) Y5 oA 2Rt vifoqqa]
B) Bu sefoyqwen

© Adl suuRd ugfail

- D) Rsdla wua
. usinlevsas aeud 9 3

M s wurdl ARa Wl
A 2sellonell 220y A
ws

(@) s UUlFsdnA s YURA ed=t

(3) UM% e35 oud Asollonel
Wdr Ad-s1d s iy B

@ A5 Wulys da-ll a-L yula
ool ¥y %A B

Wl [sey durll ;-

(A ) WA @)

(B) (2) ¥ (3)

(©) (1) Y\ @)

D) (2) 2 (4)
- [P.T.O0.]



64.

65.

66.

67.

In Weber’s theory of action, which

of the following forms of action

characterises bureaucracy ?

(A) Traditional

(B) Affective

(C) Utilitarian

(D) Rational

Which ‘of the following features

of action theory of Parsons is

mismatched ?

(A) Adaptation—economy

(B) Goal attainment—polity

(©) Integration—Law

(D) Latency/pattern maintenance—
culture -

Which one of the following is useful

for a qualitative study ?

(A) Survey method

. (B) Case study

(C) Census

(D) Sample

Which of the following is not
included in the primary group ?
(A) Village community

(B) Neighbour group

(C) Family

(D) Labour union

Sociology-1I

64.

66.

67.

Aozl it Rgiani -NA-uxid
Butd sy 2a3u Asueld aqm
7 ' | |
(A) 434

(B) *naels

() GuaiPrdl

(D) s
85.

QA-unisll 53 @aa WAL Fucs

. Rugid WA yad <l ?

(A) rga-—2s

(B) #lu MY MMl

(©) ARd—5EL

@) Aefljled wnasl—igla
ates e w2 Fee Ul sy
Guyiall ¢l 8 ? |

(A) udas

(B) Ald dwy

() AU

D) Fed-

AA-uniafl Si-il alfis ol wwdn
udi ¢l ?

(A) WHAYE

(B) usSlaogu

{0) 5

(D) ¥R HsA



- 68.

69.

Which of the following matching the
author and book is not correet ?
(A) Louis Dumont - Homo

Hierarchicus

theory of stratification
(C) Bernard Barber — Social

stratification

(D) B. R. Ambedkar — Castes in

India : Their Mechanism,

Genesis and Development

Which of the following captures

Auguste Comte’s ‘theory of
change 7

(A) Theological. to metaphysical to.

. positivism _

| (B) Met.aphysical to theological to

industrial

tC) Industrial to metaphysical to
theological |

(D) Positivism to theological to

metaphj}sical _

Sociology-I1

(B) T. K. Oommen - Functional
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69.

A-unidl Quis A Yeis As§ wy
] '? |

.('A) a8 syuiz — el REIEEYES R

(B) 2.3 ilunt — §sunia oflul il

| &élmgll-_{ - |

(C) 61-1[5 ouely — Alwe RARBI A

@) o2z, AASL — 5132 S
dlsut, 43 H3flasu, sp?i%ﬂa

S éciauil*a

i s WM wWlhad--l
Rigiani AA-unigl 58 susd wa

|8 ?

afaaludl  2uliedlasel
N4 AaLE |
wleiifasdl  gfasluxl

(A)

(B)
Alenlis
(€) »ilelilisdl  suleilfasyl
wlswfly .
(D) u&amau‘l qa{ il usl
il salE
[P.T.O.)



70,

When a couple, after marriage, set

up residence in a new place, it is

" called which form of residence ?

71.

Sociology-11

(A) Patrilocal

(B) Matrilocal

(C) Neolocal

(D) Avunculocal |

Match Column 1 with Column 2 :
| Column-1 |

(Authors)

Judith Butler

Simone de Beauvoir

Ann QOasakley

Mary Wollstonecraft -

@
()]
()
@)
Column-2
(Books)
@ _Vindication of the Rights of
- 'Women '
(D)
(ifi) The Second Sex _
(iv) The Other Side of Silence
(D) Gendé_r Trouble

Sex, Gender and society

Key :

@ ® @© @
A) G @ @ @)
® @) @ O W
© @ G @ O
™ G O G @

28

opqd @oet ugfl EufRL Al owa g
Wsa 43 51 B A (Raw) Wsan
sl A B
(A) [ugraul~s
(B) wqradns
(©) -t s
D) Sisl—HirlL
Sian 11 siad 2 0l ASE A uda
SisHial WAl Gul Wit s2U
' sian 1
(@uis)
(@) %olU oeEr
@) Ain—e—oldiR
© . vilsd
@ A ARRHI2
o an 2
_ (Yci5)
@ d-Sl3a v 4 S We
QAAn
G) AsY, B WS Al
i) 4 As-s Asy
() l wnaz WSS il Wud-A
© “¥s2 2ud’ (Gender Trouble)
dl : | '

0.

71.

@ ® © @
A @ @ @ @
® @) B O @
©. W GGy @ O
O G @ G @



72.

73.

What is the term used when one
places a priority on understanding
othex; cultures,
dismi-ssiﬂg them as ‘strange’ or
‘exotic’ ?

(A} Ethnocentrism

(B) Culture shock

(C) Cultural relativism'

(D) Xenocentrism

Assertion ‘A’ ; AccordmgtoPareto

~ the circulation of elites is a change

from those.having characteristics of
‘llons’ to ‘foxes’ and then to ‘lions’
and 80 on. '

Reason ‘R’ : For Pareto, the

rather than .

- 13

circulation of elites takes place -

because of changes in economie

structure.

Key :

(A) Both ‘A’ and R’ are correct and
‘R’ is the correct explanation
of ‘A’ :

(B) Both ‘A’ and ‘R’ are right, but
‘R’ the
eXplamitibn of ‘A’

(C) ‘A’isright, but ‘R’ is not correct

(D) ‘A’ is wrong but ‘R’ is right

is not correct

Sociology-II

72,

D A

(B

ol Azgfazil ARA sy s

ARfld A/ sAl sl an-ll

A nElisct 2 B A R sul
wWe AL D ?

(A) AeiAvFlnn

(B) 56AR¢2Uls

(©) seaa AAddlan

(D) Il A@alln

AL’ RELETET i AP
uRema A ¥ ‘A’ el qud
8 cauell ‘Slsu’ A @ uedl ‘awy-’

i, w6015 sl 3 agardl

W 8. |

5138 B’ : W32 ud wulls wowui

Aag wRad= vl n[imeti

LI

adl : |

() A’ ¥ R 6 WA B, WA R
S WA wg%u\'éuw 8

‘A A R 6 WA B, uig R’

WA’ o WY wdlsaw )

© A Wy & wig R wy

g 8, Wy B wy 8

- [P.T.0.]



74.

75.

- 176.

Who explained the difference

between positivism | and
interpretative sociology ?

(A) Auguste Comte

(B) C. Wright Mills

(C) - Anthony Giddens -

(D) Alvin W. Gouldner

Foucault thought that archaeology

was a necessary first step
towards :

(A) Genealogy of power

B (B) Discourse analysis

(C) Clinics and m(?dicine

(D) Deconstruction

Who defined a sample as a smaller
représentation of a larger whole ?
(A) Walkar and Lev -

(B) Mueller and Schuessler

(C) Goode and Hatt

(D) | Wilsonl Gee

Sociology-II
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74.

75.

76.

yeusale A Aol wuBWl

q? dsiad g el ?

(A) zrﬁou»a s

®) ol use B

(C) Ayl Pisu

(D) Alart seiey AesR

il R yroL Yda Qe ¥

degd Ay sBrud wIg g A B

(A) albdd dalluel

.(B)' Rasial A-ueffia

() selidlsu 25 AR
(D) ([Qvis |

519 55 3 ‘wilared wlalARa 41l

el gyl ed el

(A) es A da
(B) 3E ¥l YU

(C) 35 ¥ w2

(D) e 20



77.

79.

Sociology-II

The proéess by which a person’s

social values, beliefs and norms are

re-engineered, like in a monastery

| or mental asylum, is called :

(A) Anticipatory socialization

(B) Socialization

(C) Re-socialization

(D) Adult socialization

Who first gave the concept of

multiple statuses ?
(A) R. K. Merton
(B) Ralph Lintoni

1(§)) Kingéley Davis

_(D) Michel Foucault

Who c'oritribut-ed ‘notably to
industrial sociolqu in India ?‘
(A) L P. Desai

®) . R. Sheth

(C) A. R. Desai

D) A. M. Shah .

- 79,
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71.

78.

AGUEES e, Wyl AR, el

CuBwA ARl waar wlis

woguau-l ¥ Ye: olisam srUML
WA AN sduy B :

(A) AURd ADEIQ

*(B) M5

(C) YiMDse

(D) Yod AN

oigfas el v Al wad 59

g sl ?

(A) 2.3, 4
(B) e Rien
(© Bord 3Ry .

(D Y4 §§

elLRdHl »eils -%Lﬁmu:eat-;t R
sid uecqqgf Ut B 7 |
@A) s 206
(B) .22, 25

© A2z, Lus

(D) b__l.z?m. aue"

[P.T.0.]



80.

81.

Match the author in Column-1 with -

_ their work in .Column-2 :

Colun;m-l
@ S.C. Dube

~ (® N. K Bose

© G.S. Ghurye
(d) K. S. Singh .
~ Column-2
(i) Social Tensions in India’

(i) Indian Village

(iif) People of India -

(i) The Structure of Hindu Society

Key : | _
@ B © @
@ O G @ 6
B G O @ @
© G G O G
® G @ @ O

Industrial ‘society tends to be an
open society. The assignment of job

.as such is according to :
| (A) The traditional caste basis
~ (B) The family status = .

(C) On the basis of racial

preferences

(D) Tech.nical_ skill

Seciology-I1
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81.

fian-1 4l 2udd Ausl sian-2

Brn s WA Ass ASL

sian 1
@ Al g8l
() A3, olid
© .. gi[
d 3.3 Ry

fan 2
@) diwwd 2Huy o Sl
G) $-Qun RA»
Gii) flua s SEsul
(iv) 4 WsuR s (&g Al
udl : |
d)

@ ® ©
(A) @ G Guy @)
B) GE) @ @ @)
© G G G G

O G G G O
“leliBls W vedl A dlu 8.

Rl Al AT FU Yoo 2w

EXEE
(A) wiuvld At 2uuLR
(B &b e

(©) woalau waedlall wR 2waRd
(D) das-4l Slaey



82. According to Max Weber, an ideal

tjrpe is a : )

(A) Common situation in a given
society

(B) ﬁwel society aspired for

(C) Conceptual tool to understand

~ social phénomena ,

(D) Statistical findings of a social
researcher |

. Ethnomethodology is known as

a(_n) :

(A) Sociology of everyday life

(B) Critique of pPhenomenology

(C) Rejection of Herbert Spéncer’s
views |

(D} Fusion of Marx and —We_ber

. Which one of the following is not

a measure of correlation ?

(A) Chi-square

(B) Student’s t-test

(C) Mean dispersion-

(D) Product movement coefficient

Sociology-II

82. A5y duA ud »ned W3u ...,

8.

(A) ¥s Alssa wworni ey

u[‘a&‘_u[ﬁ
B) s wied Wiy w2 wusiay
(cj AHLFS vertd ynwar wid]
Vildts LG |
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. AedRudide ¥ 13 v B :

(A) AYARAY DA W
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- DRl 5y usdviag wiw <) 7
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85. Choose the correct code while using

an interview schedule.
(@) There is no face-to-face meeting
between the interviewer and
the respondent

®
(©

There is a face-to-face meeting
The questions can be only
structured

The questions can be structured
and unstructured

d

. Key

(A) (a) and (b) are true

(B) (b) and {(c) are true

(C) (a) and (d) are true

(D) (b) and (d) are true

. In the participant observation

technique : |

(A) the respondent knows the
benefits of the research to him/
her

(B) the researcher participates in a
social situation

(C) the respondent does not know
the purpose of the research

(D) the researcher tries to influence

the course of the situation

Sociology-I1
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86.

As yeustd FZRBL audl aud 1A
A 53 Asew vy s 8 7
(@ Haisid AU 2 Grieidl 92
Watliel Ass widl -l
yalsld A-u A Grreldl a2

Qalizdl Ass ¢l B

b)

(c)
d)

waefl 55d UAA €1 B
wsel AR A Bt WP 619
s 8

Adl :

A) (@ 2 b) w8

(B) (b) ¥ (¢) Wl B

©) (@ A (@) wa B

D) B) 2 (d) WA B

aeouo{l Faal wyl3qaal :

(A) Gaeldld Qiil‘lil."l-ll dd adt
ateidl wolR

@) Awusafl A5 ABUBS
AR wsousl a3

(C) Gritlart Adaqu 8g-ll viaR
sidl el

(@) dgiansdl wRRuRw sasd

Guz AU 52 8



87.

88..

Conversation analysis is used in
which thebretical approach ?
(A) Ethnomethodology
(B) Neofunctionalism
- (C) Phenomenology
(D) Positivism
Match Column 1 and 2 :
Column 1
(Authors)
(a) Harold Garfinkel
®) Alfred Schultz
(¢) Erving Goffman
(d) Berger and Luckmann
Column 2
(Books)
(!} The Phenomenology of Social
World
(i) Studies in Ethnomethodology
(i) Writing and Difference
- () The Presentation of Self in
Everyday life
{(v) The Sociél Construction of
Reality
. Key : _ '
@ ). © @
Ay @) . G Gy @)
B @) G @) @
© O @ ¢ G
Dy @) @ @ W
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audfeny [ﬁﬂdtteml X &al[&s
WG GuylaL 24 as ? |
(A) AeiNusidion
(B) Aasiuleisae

(C) wernura
(D) Nddae

st 1 0wl ey 2 AS -
stan 1
- (@ws)

@) 8Aes sy

(B) 23S Yo
(© ©UAdL A4
d) ol A5 gsi-
slay 2
(Ydis)
@ 4 Brl-idio »is diwue qes
@) R8ly S AidySiclio
@) ASAN A-s <ls lly

Gv) ] As-2ouel iis aes S+ Bal

L8 wdy
@ ol deud ssunt ¥iis Ruedd
adl - _
(b)

(@) © @
A) @) D) (v W)
B @ @ @ O
€© @ @ 6 Gid)
M @ 6 @)
[P.T.0)



89. The colonized societies are also

referred to as :

(A) Third World

(B) Feudal Sociétieé

(C) Second World

(D) First World

Under the traditional caste-system,

which one of the following imposed

- gtrict sanctions in the matters of

social interactions with the members

" of other castes ?

91.

iA) “Varna®

gB) Caste

(C) Sub-caste

@) Kinship

Symbolic Interactionism is severely

criticized because it gives too much

self and ignores :
(A) Culture

(B} Social structure
(C) Social change

(D) Language

Sociclogy-11

" emphasis to the interaction of the.
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89.

91.

GuFda dsaqu wuAd g s
8 ? '

(A) g [etné .

(B) Avidalel W

(C) oll¥ [Asq

(D) uuy [asq

YInzL sl gt 2ead [ g
sq A5y ol il Wl wulks
aqqelz Gua ALl Hum 85 [AdAn
usig ?

A) asl

B)

©) Gu-al

(D) AAURA Asial

Aguets vid el 585 s Al
W2 sl 2 D By A @’
sidpuL Guz 4y uSdl mié_gl 33
A Fl AL 53 B d

(A) dsla

(B) wulks uay

(©) aulss WRad-

D) ™ML
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commitment to poéitivi#m and
empiricism ?
(A) Historians
(B) Modernists
(C) Post-modernists |

(D) Psychologists
. The roots of critical theory in
sociology are based on the thmkmg
of the scholars who promoted.
(A) Subjective understanding of
© Max Weber

(B) Idealism of Karl Marx

(C) Ethnomethodological perspective

(D) Phenomenological understanding :

. 'Who has studied Indian society with
an oriental perspective ?

(A) M. N. Srinivas

(B) 8. C. Dube

(C) G. S. Ghurye |

(D) 1. P. Desai |

93.

94,

87

' 92. Who has questioned Sociology’s  92. UHUAWRAAL  Ueusidle  ws
Ageayydiel Wsigaid sia
M syl @ 7

(A) SRefg
(B) wgmdlqlﬂ%ﬁ |
(C) g—2uylAsciciglzi

(D) (il

ArWANL Waucis Rigid (£ldlsa
Q) -1 3y & [Rgt-tivn R w2

AR B B FA Aol Wl

8 q:

) A5 alaad] wwam

B) stdwdu-d suedae
(©) RAldysiciensa WRiw

(D) gewtiausily AHAY

ouclly wupdl 2iNAree AEREET

S oy syl ?

(A WA, slRay

(B) Au.dl. gQ
(C) @.8y, yJ
M) 2u$. . 2w -

[P.T.O.)



95.

97.

Who is known for using participant

observation while doing field-work
ﬁmoﬁg the tribals ?

(A) D. N. Majumdar

(B) T. B.-Naik |

(C). Verrier Elwin

(D) Indra Dev _

Indicate the schoiar who used the
concepil: of ‘Sacred Complex’ for
ana'lysis.of integrative pattern of
culture in India.

(A) T. N. Madan

" (B) Sachchidanand

(C) S. C. Dube
(D) L. P. Vidyarthi

Who stressed that the primitive

people also had a rational view and
discovered principle of reciprocity ?
(A) Radcliffe-Brown

(B) Bronislaw Malinowski

(C) Golden Weiser

(D) C. Kluckhohn
‘Sociology-I1

95.

96.

suRarllzi Axlusid sadl aud
acooll Biflam-il Gudiat seal 2
s owild © ?

(A) SLAA, HAYeIR

(B) &.ofl, -uus

() Az Aan

D) 6 T

TR A ziu;_fa-u gm-ﬁi W3
Rsdna 52 awd A2 SHuAa’ -
vyl GualaL st Rgid sl Q ealdl

(A) &3, et

- (B) dlRaete
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97.

©) Al g
@) Aa.t. Reudl

A cuyds e 3 ARY disini
wat alfs gfeliz din 8 d GuRid
W3R sardl Bata dld siedt ?
(A) sBas suB4

(B) szl Af-tiasl

(C) olles asH

@ . sehein



98.

100.

Sociology-11

Max Weber’s research. on the rise
of capitalism identified .......................

as the key .inﬂuences in its

development.

(A) Political reforms

(B) Religious ethic

(C) The development of technologies
(D) Foreign exploration

Who have separately m_ade
contribution to the study of social
moveinents in India ?

(A) Rudolph and Rudolph

(B) A. R. Desai and Pillai

C) M. S A.Rao and T. K. Oomen -

(D) S. C. Dube and Leela Dube
Yogendra Singh’s contribution
‘Modernization of Indian Tradition’

is based on which perspective ?

(B) Ethnomethodological _
(C) Structural-functional

(D) Evolutionary

98.

Asudordy ySlael Gema ¥idl
aiaﬁﬂrtﬁ Al RsrinL ey L
uoud d¥l} slawy 8.

(A) xS yaean

B) whls 3wz Wk

(© 4Alai--i Qs

(D) [zl i~ Aust

- UL AU Wikl vioa

%l %€l Ra Alae sid s ?

100.

(D) Gesifaugl
39 |

(A) 3sics AR 3Sics
(B) 3wz, 2wS wA s
(C) Y. AA.N. Aq A 4.3, »idn

D) sl g8 »d dlan ga
Wikes Rineg disTusiat sils
SlRsurt 2Bun’ Yot suy wRisy
GUR AURd B ?

(A) Whngl

(B) wiiysiciwse

(C) dAUis—sifons

[P.T.0.
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